Name_____________________________

Period_________

Horizontal Projectile Motion Problems

(HS1.6.4, HS5.1.1.4, HS5.1.1.6, HS5.1.2.6, HS5.1.2.C, HS5.1.1.3, HS1.4.1
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Directions: Use the dual-column data list method 

to solve the following projectile motion problems: 

Example:   A hungry coyote is fired horizontally from a cannon at the top of a 100 meter tall cliff 

                   with an initial speed of 50 m/s. 

a. How far will the coyote go in the horizontal direction?

b. With what velocity will the coyote hit the ground? (speed and direction)


Data List:                                                                  Solution:  
		x

	y


	d

	?

	-100m


	 t

		
	vo

	50 m/s

	0 m/s


	vf

	50 m/s

	
	a

	0 m/s2

	-9.8 m/s2



	
	
dy = vot + ½ at2
-100 = ½ (-9.8) t2
20.4 = t2
t = 4.51 sec

dx = vxt = (50 m/s)(4.51) = 225.9 m  


a = (vfy - voy)/t

-9.8 = (vfy)/4.51

vfy = - 44.2 m/s








1. An arrow is shot horizontally at a speed of 40 m/s from a bow held 1.5 meters above the ground. It misses the target and hits the ground. 

a. How much time does it take for the arrow to hit the ground?                                  
b. How far does the arrow travel horizontally before hitting the ground?                              
c. How fast is the arrow going in the y-direction when it hits?               

d. What velocity does the arrow have at impact with the ground? 

 (speed & direction)                             
2. Another arrow is shot at the same speed from the same bow after carefully aiming it at

    the center of the target’s bulls eye. This time the arrow hits a target that is 10 meters away.


a. How much time does it take for the arrow to strike the target?                                         
b. How far below the center of the bulls eye does the arrow strike the target? 


c. How fast is the arrow going in the y-direction when it hits?               

d. What is the arrow’s velocity at impact? (speed & direction)   
3. A ball rolls off a 1 meter tall table and hits the floor 1.5 meters horizontally from the 

    edge of the table.

a. How much time does it take for the ball to hit the ground?                                            
b. How fast is the ball moving horizontally as it leaves the table edge?                             

c. How fast is the ball going in the y-direction when it hits?               

d. What velocity does the ball have at impact with the ground?    

      (speed & direction)                                                                      

4. A hungry coyote accidentally runs horizontally off a high cliff at a speed of 25 m/s.

    He hits the canyon floor below 5.8 seconds later.

a. How high is the cliff?                                                                                                     

b. How far out from the cliff edge does he land in the canyon below?                                  
c. How fast is the coyote going in the y-direction when it hits?               

d. What velocity does he have at impact?                                   

       (speed and direction)                                                               

a. dx = vxt   (need to solve for “t” first):





b. Find the y component of the final velocity,


then add the x and y components together:





X = 50 m/s











 R





Y =- 44.2 m/s





R = 66.7 m/s at 41.5o below horizontal








